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SUITABILITY: TEAM TO TASKS B

The suitability of a team to a task primarily depends on the matching between task’s
required competencies and those collectively offered by the team.
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1. Each required competence must be responsibility of at least one team member.
OPTIMISATION PROBLE
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2. Each member contributes to the task by being responsible for at least one compe- mber
tence. Y
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Find an allocation that

(1) allocates one team to each task;

3. Each member must be responsible for a limited number of competencies to avoid

overloading. (ii) each agent can participate only in
one team;
4. Agent’s suitability to a task is the similarity between the agent’s competencies (iii) maximizes the overall suitability.

and the agent’s responsibilities.

The allocation’s overall suitability (of
5. Team’s suitability to a task is the product of the team-members’ suitabilities. teams to tasks) is the product of all allo-

cated teams’ suitabilities to their task.
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Enormously large search space even for
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